TAO NAN SCHOOL
PRIMARY 2 END-OF-YEAR MATHEMATICS EXAMINATION 2006

Name: | ( )  Date: 26 October 2006
Class: Primary 2 Time: 7.55 am. - 9.25 am.
Parent’s Signature: _ Marks: __J70

- Section A (20 x 1 mark) N - |
Choose the correct answer and write its number in the brackets.
1. . The value of 2 hundreds and 7 ones is

e B -7 A
@ 72
@) 207
=(4) 270= : S ~ g

2. Subtract 108 from 500.

. {1) 608

) 4_08
- (3) 392

@ %2



3. What is the missing number? =

| 147
236<
- 1>
(1) 89
(2) 111
(3) 373

() 383 ... -

4.  What is the mass of ’rhe.bur'ger?

@ 60

(2) 160
- (3) 306
| (4) 360

5. .4x5is the same as _

) 5+4

@) 5:4
(3j-', 4-;4;4--*4'
(4) 5+5+5+5

~—



6) x3=21

1 8
@ 7
(3) 6

@ 5

7. J ohn ha_s m h'is'wd!i‘e’r. .

8.  What fraction of the figure is shaded?

e
@ 3
® ;
4y 2



10, ¢

11,

The ﬁmg_shown on the clock is X

() 4Semi;éirclgs,1.tr\idng-Ié,'I.reﬁ(':"f'dnélé' -
- (3) - 2:semi-circles, 11riangle, 1 square -

(4) 2 semi-circles, 1 triangle, 1 rectangle |

(1) 9.10
(2) 9.50
(3) 10.10
(4) 1050
“The figure is made up-of __ triaﬁdlé’s. o
(1) 6 ! ,,,,,,
@ 7 .k -
3 u
(4) 15
- The figure is made up of
(1) 4-semi-circles, 1-triangle, lsquare .o o




12.

506 is 2 tens.less than
(1) 486
(2) 488
(3) 508
(4) 526

13.

141

3 hundreds 2 tens + 6 Tens 4 ones :

(1) 960
(2) 906
(3) 384
4) 366

- 226 = 200

The missing number is

@ 446

(@) 426

(3 62

@) 26



15 Sharon picked 21 strawberries. She then packed them in boxes of 7.
How many boxes of strawberries are there?

(1) 28
(2) 14

(3 3 |
@ 7 | « )

16. *+*t*+*+jﬁ(:45
Yodes2
What is the missing answer?

@ 5

@ 9

(3) 10 |

(4) 18 | )

17. The sum of 3 two-doliar notés, 3 fifty-cent coins and 6 f:ve—cen’r
coms is $

(1) 815
(@ 780
(3) 665 |
@) 336 B G



18. How many quarters can 2 cakes be cut into?

) 16
2) 12
- (3) 8

(4) 4 | | ()

19. Each bottle contains ¢ of paint.

"
£

 ——— ,
SRS NE]
a 6
@ 2
(3) '3
(4) 18 | o | ( 3

r Mother wants to buy 12 oranges. Ho_yv much does she have to pay?




Section B { 15 x 2 marks)
Fill in the blanks with the correct answer.

21. Write 698 in words.

22, Ring_’fhe T-shirts to show 3 equal groups.

-R- oX
-t - ::.@':
—
23.  Inthe numeral ‘930, the digit'9 has a value of iens.

24. Complete the number pattern.



25. Fill in a number to make the working correct,

T 7 7
e 4
8 3 1

26.  Write a division sentence using three of the numbers given.
—

27. A flask of tea can fill8 cups.

Three flasks of tea can fill ————CYpse.

28.  Draw the next pattern.

CNIUNANT A




Use the following picture to answer Q29-30.

»

Cl

| |l|ll|llﬂ|lﬂll|lll|lllllllll|ll|l||l|I[IIIIIIIIIHIIHIIII[l lllllll[llllilllu

Ocm i

29. Ais cm.

30. B.isshorter than

The picture graph shows the number of stickers 4 children collected.

Use the information provided to answer Q 31-32.

An’rhonyl ‘fi“ i} ﬁb {%

S ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ

- ﬁﬁﬁﬁﬁ%

3RS

Each {Zf’ stands for 2 stickers

31. _Anthony has _ fewer stickers thanRaj.

32. Siticollected —_— stickers more-than-the total.number of
stickers Raj and Meiyi collected.

10



33|

34.

35.

The mass of the toy violin is g.

Arrange ‘the fractions in order from the greatest to.the smallest

o

Ll 3
2 ' 4

greatest

Priya took 30min Yo reach-home from the swnmmmg pool The clock

shows the time she reached home.

Priya left the swimming pool at - - M

il



Section € (5 x 4 marks )
Do the following sums. Show your working and answer statement clearly.

36.1 Mabel baked 235 cogkies and Cindy baked 165 cookies.
How many cookies did they bake altogether?

They baked cookies altogether.

37. | Josephis _152mi.1nll. He is 7cm taller than Ahmad. -
What is Ahmad's height?

Ahmad"s height is




38.| Peter and Tom have 16 sweets. Peter has.4 more

Peter has

39. | Mr. Lee sold 4 bags of rice and 2 bags of sugar. What

sweets than Tom. How many sweets does Peter have?

sweets.

1 bag weighs
6kg

'is the total mass of ¢
sugar?

The total mass of 4 bags of rice and 2 bags of sugar is

2 bags weigh
4kg

13




40.

Imran and his 3 friends bought a ball each. Each ball
cost 50 cents. - -
a) How much did they pay altogether?

Give your answer in dollars and cents.

They paid ___ altegether.
b) If they gave the cashier $5, how much cHange

would they recéive?
Give your answer in dollars and cents.

They would receive change. -

14



Tao Nan Primary School
Primary 2 Maths SA2 Exam (2006)

Answer Sheets
Qi Q2 Q3 Q4 Q5
3 3 1 4 4
Qé Q7 Q8 Q? Q10
2 1 4 2 2
Qi1 Q12 Q13 Q14 Qil5
4 4 3 2 3
Q16 Q17 Q18 Q19 Q20
4 2 3 1 1
21. Six hundred and ninety-eight 31. 2ftewer stickers
22, ;.. ﬁﬁﬁ Z? 5 32. 6 slickers
riky 9 53
el Zs i353
23. 90Tens 33. 170g
24. Ten 34. 3 1 2
426
25,
5 35. 8.15pm
26. 40 =4 =10 36. 400 cookies
27. 24 cups 37. 145cm
28. /l\ 38. sweets
29. 3cm 39. 28kg
30. C 40. a) $2.00
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b) $3.00



